#ER:1/2,500 = =
R/ EREEOEE 15n
HERREES 132442A660406007

GRS RIAFG
FriEih & 25 BB 2 E0ET B F

I & B gRr.1/50000

g

© .:j_ﬂ
3\‘;7.'
AT

=
T
2

i TS e T,
e
B0 A PV RO S WA
% QL/“R. @_?ga,a.f,ﬂ@.s\, ;

W A D

) \ir. | "\(i{: e

: BN e

i N R
"%‘L\aﬁ“\xj RS a:_‘z‘:ls éla' 20
.\v\"w‘ i ‘_ ;
R e
fi:“ %ﬁtﬁ i = ;
ML s
RS
| NG =2 el TR
T e
i"{ ﬂé"%:) i B i SR
XKCDME(E, E L RO KX 50000 ChRE#) ZERALEDTHS

X i & Rl

I:l IWKEERRE

r IBKERHAIERRE (BPERIES) —
{iﬁﬁwﬁéﬁmﬁﬁiézﬁ

BEWICERTHEFRIND AN
]| sownibFoRE

| I ZThUS ORI

B X 1 EBRC
TRZEOHORESORT
RANES| K ® |[Ea&%| & | ®
(1) 18.2 0.7
ADREHRED 5
(A) TARICEYBEYMIERTZEBESNDIADSERADLD KN/m)
B) (AL HBEEYIERTIEENLIEROSE (m)
EHIRBE
EREAH
ETRES
0 50 100 m %/_\ﬂiﬁ E
1/2,500 ERES

ERE

X EEFEDNORESORT] MTRTSNSHIEE. RYME GHHEE) Z/IEE_MTEEEALEZLDOTY, 1 / 1

Z0=&. APITRS L TV S RIEDFEFEMNETIE, AFIOHE LR RBEN—BLENEENHY ET,
Bl1) LTEROBSOHEEAS 1.0lm OFE, EEAAICLY 1.0m ERFTESNETH, ERFImEBATVSEH. TTRRAOSEIAImEBZ HRE] ITHRALET,

Bl2) TLEROBESHNImEBIDSRE] 055, BEYIAERTLEFEINLN0 HHEA 50.01 kN/mMOBHE, MIBEEAIZLY 50.0 ERFTEAFTH,
EBILE0N/MEBZ TS, EEMIHERT 2L FEINDNHO0N/MEBZ DRI ITHELES .



